Financial Maths Lesson 6 March 07, 2013

3. A special savings account offers an AER of 4% per annum. If T invest €2000 per year in
this account, how much will my investment be worth in 5 years time?
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4. Show that the future value of a series of n payments of €P, earning an interest rate
of i% per annum, can be written as:
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6. Anne received a cheque in the post for €6523.33 after saving for 5 years with her

bank in a scheme offering 9% per annum. If she invested €A per annum,
(i) write down a geometric series representing the value of her investment over
the 5 years

(ii) find the value of A.
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7. Use the future value formula to find the final value if €200 is invested every month
for 2 years. The interest rate is 9% per annum, compounded monthly.

change annual equivalent rate q %

to monthly equivalent rate
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8. George wants to make regular payments into an account that pays 8.5% per annum
compound interest in order to have €10000 after 7 years. Find the amount of each

annual payment.
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9. Ella wants to have €5000 in 3 years time.
She invests in an annuity that pays 7.2% per annum, compounded quarterly.
How much does she need to deposit each quarter to achieve her target of €50007
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10.

Prove that the present value of an annuity (instalments paid at the beginning of
each period) is given by:

Furture value (calculated at the end of each period) = (1 + )"
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11. Show how the present value of an annuity involving depositing €3000 per year in an
account for 6 years can be written as a geometric series, given that the interest rate
is 8% per annum.
(i) Calculate the present value.
(ii) Calculate the future value of the annuity
(iii) If the present value of the annuity in (i) was put on deposit as a single investment

at 8% per annum, show that it will amount to the same future value of the annuity
after 6 years.

(l) The first instalment is €3000 this is needed
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11. Show how the present value of an annuity involving depositing €3000 per year in an
account for 6 years can be written as a geometric series, given that the interest rate

is 8% per annum.
(i) Calculate the present value.
(ii) Calculate the future value of the annuity.
(iii) If the present value of the annuity in (i) was put on deposit as a single investment
at 8% per annum, show that it will amount to the same future value of the annuity
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11. Show how the present value of an annuity involving depositing €3000 per year in an
account for 6 years can be written as a geometric series, given that the interest rate
is 8% per annum.
(i) Calculate the present value.
(ii) Calculate the future value of the annuity.
(iii) If the present value of the annuity in (i) was put on deposit as a single investment
at 8% per annum, show that it will amount to the same future value of the annuity

after 6 years.
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